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for <variable=#> In <sequencess>:
<statementsy+>

python range() BRI A1 — N EE AR, — A LE for TE3A A,

range(start, stop|, step])

S

estart: TFHEM start FFiG. ERIAEM O Fris. fFliirange (5) 254/ Frange (0, 5) ;
-stop: 11413 stop 45K, HAGLEE stop. #lUl: range (0, 5) &[0, 1, 2, 3, 4% A5
step: K, ERiIAANL. Fla0: range (0, 5) Z44TF range(0, 5, 1)

while <Z&iA Fmw>:
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BOf: S (Heran)r R, EWAMBCH, AB=¢,BC=a,CA=b,

AN

p=s(a+b+c), MEMBER:

s=Jpp-aXp=b\p=2)

import math

a = fln:uat{input{’}ﬁﬁ}k;%ﬁ?%—gﬁﬁ: a= "))

b= float {irput  FRAZBEEZ0F: b= "))

c = float {input C1ERA —BAERE =14 c = "))

1iTa+b >canda+ec >b andb + o » a:
print{ Blit: ¥.0f % (a + b + o))

p=la+b+c) fZ
area = math.zqrtip * (p — a) * (p — b) * (p — cJ)
print (@i : ¥, 27 % (area))

el=se:
print { FEEFR =@ H:7)
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x+y+z=100
5x+3y+z/3=100
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Sx+3y+z/3==100

Ritt: cock=3X hen=Y,
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#ooding=utf-
chickMum=[[" «:35°, 8357, 357 1]

#iBEem—5 . Z18x a2

for = in rangell, 207 :

# BEim—R. f8y T30
for ¥ in rangetl, 300

# HIT 1008235
z=100-x

# wﬂﬂéﬁéz?ﬂﬁmﬁéﬁ B Bx+3v+z/ 3=100
1t z%¥3==0 and B*x+3kv+z/3==100

# BHsFEHFRERFMERE
:hi:kﬂum append{[x,y,z]}

#TEN B R R
privt TV B EB N £HYAdH AE: ¥ (len(chicklum)-1))
print ()
for 1 1n chickMNum :
tor 7 in 1 :
print (i, end=""%t" )
primnt i)
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mid=(min+max)//2

min l | max
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= (E) e ER

WMBLELED, max=mid-1 l

B

WMEAEAD, min=mid+1

(LERiR



2200 B

|

mlistf0] mlist[1] mlist[2] mlist[3] ImIist[4] mlist[5] mlist[6] mlist[7]

= (E) B e ER

B

L min
mlist[4]

mid ‘ maX
mlist[5 mlist[6] mlist[7]

|



22114 B

|

mlistf0] mlist[1] mlist[2] mlist[3] ImIist[4] mlist[5] mlist[6] mlist[7]

= (E) B e ER

B

BIR

mid
mlist[4] mlisy5 mlist[6] mlist[7]
min_: :
=% mlist[6]  mlist[7]




def ESgarch lizta, ke y} .
# 0V R BB S & i
min = 0O
max = lenilista) — 1

it __

1t kew in lista:# )
¥ BT —THIER. R Fkey
while Frue: o
# 1FE|dfudn
mid = (min + max) // 2
# Ley 3| F Lk
1t lista[mid] » kev:
max = mid - 1
# keyft P FRHIE
elif listalmid] < kew:
min = mid + 1
# Leyit 5|3 A g
elif liztalmid] == key:

print ("{FETHAHE:",

return lizta[mid]
else:

print (" HEHFEI1")

"
name ==

mailnh

ke,

arr=[1, 6,9, 15, 24, Sﬁ_dé ET 63 TT, 81, 93]

primt (" EﬁFFﬁE’j—iﬂﬁ

while True:

,arr}

key = 1n1:lutli 15 i AR ETHAIEE:

1t kew =

prlnt( ﬁﬁﬁﬁ )
breal

elze:
BSearchiarr, int (key))
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1 2B 3H 4H 5H 6H 7H 8H 9H 10H 11H 12H
MR 1 0 1 1 2 3 5 8 13 21 34 55
K& O 1 1 2 3 5 8 13 21 34 55 89
&t 1 1 2 3 5 8 13 21 34 55 89 144

WA
B BN B IR T HH ZF(N), FATEF(Q)=F(2)=1

F(N)=F(N-1)+F(N-2)(24N>=3)
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def hanoi(n, f, b, t): STEHLA Lé
if n==1:

F M5 Efrom 2 B 2115 e to;

:IH

\:Iu

Ak T

MoveEsum- 1
510 ]'F JJJJJ Z

il

print(f, '-->', t)
else:

hanoi(n - 1, f, t, b)

print(f, '-->', t)

hanoi(n - 1, b, f, t)

# U
hanoi(4, X', "Y#', 'Zk")




